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NHIZEEES WE A2 A =< 750,000€ 750
02 3323l 62,172 62,172 0
NSEHAXALIA OlEER2
2,000,000& x12& 24,000
NHEE30IS HE HYEdE
60,0003 x 122 24 & 1,440
NI JIJtorL e oYl sldz
35,0003 128 +83| & 3,360
N2 HWE EHOX RXE2
194,000,000& *10% 19,400
NEMEIAY JHEEESE BotAIAE KX
g2 109,716,000& *10% 10,972
NEEs028H A4 X2 3,000,000& 3,000
HEZELLA=2Y 492,295 587,025 A94,730
201 LB-2d| 492,295 487,025 5,270
02 3322l 492,295 487,025 5,270




SN HEXAD

Hu: GrREIATY
cHelr MMEA CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
NAZHEL HEH 23
25,000,000& x12& 300,000
NUESAY HH FANES(Z,SY MPL S
) 933,572,000 *8%x*1. 1 82,155
DEEEEET SRS
68,896,000& *8%x*1. 1 6,063
NS AL 184,942,000 *8%*1. 1 16,275
NHEESWEAAE(IPT)RAES
535,796,000 *8%x*1. 1 47,151
NSY AL IPSHLSAAY L SHLIRXA
2= 103, 121,000& *8%x*1. 1 9,075
DIPAZIAIAE SXES 49,839,000 *8%+1.1 4,386
NSEEAIAE (UTM) R X2
81,697,000& »8%x*1. 1 7,190
NEFHLY 0@ L ZH0 B2 FSSHY
ol &4l 20,000,000& 20,000
HESAMAAEAZ2H 251,869 338,137 A 86,268
201 Let24d] 251,869 338,137 A 86,268
01 At 22l 1,800 1,800 0
NASHEZALEE SRl 30,000,000 *6% 1,800
02 =224l 250,069 336,337 A 86,268
NEH A A Malg 883l 23
140,000, 000& 140,000
NHYLRLE SUHES AERS
1,200,000& = 12& 14,400
NeASH dE2FUE 22 23
1,850,000& »12& 22,200

510,000& =128 6,120
NBEZFLLE HEAIPC 0IER2S
2,050,000 x12& 24,600
NHIAE AL ABRS
33,000 103 & x12& 3,960
NZZsdZE dIIe3
350,000& 204 A +12& 8,400
NZZe2dz d83d 23
75,0002 200 A+ 128 1,800
N, S8 AMA YA AE X2
296,796,000& *6%*1.1 19,589
NEHLESEH |FX 2 =2 3,000, 000& 3,000
N SAaLSAAYE L CATVY RIS
4,000, 000& 4,000
NBEFSAUAE B85 L 428 7
2,000,000& 2,000
DISHELSAAHI=RA 239,998 199,073 40,925
201 LEt2E | 239,998 199,073 40,925




A HEX AL
S XX
A

el

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M

2
==
£l
Ol
0y

S22l 239,998 199,073 40,925
S8 I ELe|0AIAE I COMA 2 A
2= 1,200,000 «12& 14,400
M HE UL 0IAIAE S eHY 3
= 1,500,000 «12& 18,000
ot e 0AlAE 2D MIIRB(

40,000& 128 480

=0 rxodo
m mMe R

~

0%
0
0z
O
=
[>
0z
He
ra

=}
o
10
pa

T

>
@
=

1,785,421,000& *8%+1.1 157,118
Or2dFLS08 22 50,000,000 50,000

> b2

o <
Im

FEsosEz 02N E(EXR) 38,924 38,924 0
4,308
34,616

EUNLY

307 glztol & 38,924 38,924 0

4,308
34,616

M H

qE=x 38,924 38,924 0

IH
HU
I
0
]
[l
>
o
0x

38,924,000& 38,924

4,308
34,616

M

ANDENSHIYSANAHIF(ERX) 380,000 0 380,000

90,000
290,000

EURLY

401 AIEHIZ 2 I 380,000 0 380,000

90,000
290,000

EURLY

01 A& dl 380,000 0 380,000

380,000, 000& 380,000

90,000
290,000

EURLY

HEdE 4,354,048 3,675,860 678,188
425,000
433,800

4,492

3,490,756

AN

Ho
g
Olon

Al 4,354,048 3,675,860 678,188
425,000
433,800

4,492

3,490,756

Ak

M

H=sdE 25,780 22,760 3,020

101 1Al 2,500 2,500 0

AZZNE S 2,500 2,500 0
NHsEE S22 o 50,000& 502 2,500

_13_




SN BEXAD

Mo YRS
@42 MsdE (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
201 ¢er24| 4,280 6,760 A2,480
01 At 22l 3,280 6,760 A 3,480
NHSEE LRFE 0H4AHl 8,000 x4H «653] 2,080
NAREE 2 AREH 100,000& =122 1,200
03 A2 Z Hl 1,000 0 1,000
NAE MSA KA 500,000 *23| 1,000
202 044l 18,000 13,500 4,500
01 = LH o4 4l 18,000 13,500 4,500
NHMSIE JR2FE I
50,000& *4H 903 18,000
301 LPEXZ 1,000 0 1,000
12 JE24d =3 1,000 0 1,000
NEXES | XA 200,000& x53] 1,000
HEHSTE 58,040 59,040 A 1,000
201 Let2d] 53,040 53,040 0
01 At 22l 53,040 53,040 0
NESH 8w MSAE AEE Xz
260,000& x170 2o x128 53,040
405 THobF S| 5,000 6,000 A1,000
01 AL EFSFHSHI 5,000 6,000 A 1,000
NMssAsE 28 #¢ 5,000,000& 5,000
dEH=SLE 458,400 451,200 7,200
201 Let24d] 3,000 3,000 0
01 At 22/l 3,000 3,000 0
N NE sdis2 A8 X2
250,000 128 3,000
301 LeIEBAF 455,400 448,200 7,200
izt - 2s2SENS 455,400 448,200 7,200
NG 20 2,200,000 x6H 123 158,400
NS Z28 330,000& 75 «12& 297,000
H=E3 29X 318,758 274,882 43,876
307 glz2+ol & 318,758 274,882 43,876
03 QIAHMHE2IHIEE 318,758 274,882 43,876
Nelotz M= 2L EH| 97,424,000 97,424
Nalotz M3l A 198,334,000& 198,334
Nelorz =3 S0 12,000, 000& 12,000
Nelotz Mss s4224 11,000,000& 11,000
YO ET KX S X XIANRY (B &) 204,624 202,776 1,848
J| 102,312
fia 102,312




i

AR E= DAL=

g s
el MEXE EEREED
SA - BB B () - MM - BES Ol &t o San HmEET
307 glz2tol & 204,624 202,776 1,848
J| 102,312
s 102,312
02 PIZHEHAHE L 204,624 202,776 1,848
NoerMEs X S Bix
2,436,000 x7H+x12& 204,624
J| 102,312
s 102,312
HEANMEMSX SR XIAIL (EX) 263,088 260,712 2,376
J| 131,544
s 131,544
307 gl2tol & 263,088 260,712 2,376
J| 131,544
s 131,544
02 It M AHE L 263,088 260,712 2,376
N2 MY KX S XX
2,436,000 x9H 123 263,088
J| 131,544
s 131,544
dENslctadskE 109,000 117,460 A 8,460
307 21201 A 109,000 117,460 A 8,460
02 IZtE S AIHE L 109,000 117,460 A 8,460
NMEMSXEXF S&0H K& 57,000,000 57,000
DUSHSXNET DI+ X
5,000,000& 5,000
NHENSXAEL S 47,000,000& 47,000
HE283 X 945,000 1,044,000 299,000
307 21201 A 945,000 1,022,000 AT7,000
02 QB AAHEX 915,000 802,000 113,000
N&E2tg s dMsa &3 XI& 160,000,000 160,000
N2 dMseds &0 L JHE X
160,000, 000& 160,000
DAZSE A2 UR A& & L iz
X 10,000, 000& 10,000
N lEds 88 X 30,000, 000& 30,000
N HEds X2 X 35,000,000& 35,000
N WEds BAEHE X 30,000, 000& 30,000
NE 22 HEH2> ZAXE 50,000,000 50,000
Neads 422 238 s 251
60,000,000 60,000
NBUR K449 L Ha4d 4 N
20,000,000& 20,000
Nead S3wa 29 X 15,000, 000& 15,000
NAEZF =42 g &It 23 dH XA
10,000, 000& 10,000
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AR E= DAL=

g s
gel M=sds (el &)
SA - BB B () - MM - BES Ol &t o San HmEET
Ndadswnsy 29 A 30,000, 000& 30,000
NYENsE IESh U 85 N
25,000,000& 25,000
NSd Iesss s A 80,000,000& 80,000
1NS8Y lssss & XA 10,000, 000& 10,000
NEd desss usd(eldUs) XA
60,000,000& 60,000
nNgzo dMsgdst 2s A& 20,000,000 20,000
NsY des 245 X 80,000,000& 80,000
NZE MM X XA 5,000,000& »23] 10,000
Nelotx dMIEd A KA 10,000, 000& 10,000
NAlZ? gy 83X &It X&  10,000,0008 10,000
04 QIZFHALAIR B = 30,000 220,000 190,000
Nelorz Mselo g AL Izl X
30,000,000& 30,000
AMOtZAN S EHIIMSUSINE XA 150,000 0 150,000
307 21201 A 150,000 0 150,000
04 QIZFHALAIH B = 150,000 0 150,000
Neot2HEs &I MU HEl XA
150,000, 000& 150,000
MO MBTYSHSEIMNE X 150,000 0 150,000
307 glz2+ol & 150,000 0 150,000
04 QIZFHALAIH B = 150,000 0 150,000
Nelotx MEsUHEA HE X2
150,000, 000& 150,000
SUHBI00MBASHHRY(EX) 206,250 0 206,250
J| 165,000
s 41,250
307 glz2+ol & 206,250 0 206,250
J| 165,000
s 41,250
02 It HAHEE 206,250 0 206,250
NelotrEosdye 22 XY 206,250,000 206,250
J| 165,000
s 41,250
UM =E LA 30,800 45,500 A 14,700
307 21201 A 30,800 45,500 A 14,700
02 YAFAAFEE 30,800 45,500 A 14,700
Nt oo MsUz &It XA
26,000,000& 26,000
NAE Zoie Msds =2t N
4,800,000& 4,800
TSNS NARE 89,080 57,000 32,080




SN HEXAD
Hm: HEAS
s

@2 Msd

- _ _ RE]

SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
201 Bt 7,000 5,000 2,000
01 AP 22| H| 7,000 5,000 2,000

NS DA DN (HBISTEANE, U S)2 Y
7,000,000& 7,000
301 et A= 82,080 52,000 30,080
09 HAIAHI X & 2 17,280 0 17,280
1)HFS 2FAFAL B 17,280,000 17,280
12 JIEtE &= 64,800 52,000 12,800
HIS2ZAIS 120,000& 63| *QJH & * 104 & 64,800
HEHLHAMY(EX) 47,360 36,480 10,880
J| 33,152
o= 4,262
= 9,946
301 et M= 47,360 36,480 10,880
J| 33,152
o= 4,262
= 9,946
01 Al E& A 252 47,360 36,480 10,880
NAZIAL 0|23 MY 47,360,000 47,360
J| 33,152
& 4,262
o 9,946
AT XAIOIAEAANS(EX) 2,560 2,560 0
J| 1,792
= 230
= 538
301 et A= 2,560 2,560 0
J| 1,792
= 230
= 538
01 Al E & A 462 2,560 2,560 0
DAL AZXAXZ0IE ALY 2,560,000 2,560
J| 1,792
o=t 230
= 538
MOIREBXERTAHE (EX) 200,000 200,000 0
g 200,000
401 Al HI L £ 0HHI 200,000 200,000 0
R 200,000
01 Al& H| 200,000 199, 280 720
NEXESJAE HE Z2A 200,000,000& 200,000
Fag 200,000

SE2MSAIE R A 22 92,508 84,050 8,458

101 124 H| 33,588 25,130 8,458




AR E= DAL=

Mo YRS
Sel: HSAE EEREED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
04 JI2ZtHIZ2 2 NEES 33,588 25,130 8,458
NOIMSHIS )| @2 JI2tHZ22 X
2,799,000& x12& 33,588
201 Yet2 | 28,920 28,920 0
01 At2 22l | 3,000 3,000 0
NHSAIE EXN(Z2EMA) X2 X2
3,000,000& 3,000
02 2224 H| 25,920 25,920 0
NEYH(I2Y) 29 22|
560,000 *122 6,720
NYE} 2UMSHH 29 22294
1,600,000 x12& 19,200
401 AIEHIZL 201 Y| 30,000 30,000 0
01 A& H| 30,000 30,000 0
N2Z2HEAE SX 2 2,500,000& x12& 30,000
ALXEI2H A2 90,000 89,400 600
101 2121 H| 4,800 10,200 AN5,400
04 JI2tHIZ22NEE S 4,800 10,200 A5,400
NAZXEIS SHAA-H QA
80,000 x5 H x 12! 4,800
201 LBt Y| 85,200 79,200 6,000
01 AP 22| H| 1,200 1,200 0
NAZXER 29 ALRE 100,000& 12& 1,200
02 222 4| 84,000 78,000 6,000
NAZXES 29 2229H|
7,000,000& x12& 84,000
SHHMAIE S A 22 162,800 202,040 A 39,240
101 2121 4| 6,720 5,880 840
04 JIZtHIZ22XNSES 6,720 5,880 840
NS HESAE SFAH oA
80,000 63| 14| S & 6,720
201 et Y| 70,080 98, 160 A 28,080
02 B232%H| 70,080 98, 160 A 28,080
1NSH HOEEZE 29 2229H|
400,000 x120 2~ «12& 57,600
NS HESAME(2SE S) 29 22294
80,000 x130 A~ «12& 12,480
401 AlEHIZL 2 0HY| 86,000 98,000 A 12,000
01 A&l 86,000 98,000 A 12,000
NS HESAME SX B4
4,000,000 14 S 4 56,000




SN BEXAD

HH: RS
gel M=sds (el &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
1S9 OIA2SI|I3 &X YL S22
30,000& *1,0004 30,000
EMESSHESHHITHEEIN(EXR) 500,000 0 500,000
g 150,000
= 350,000
401 AlEHIZ 201 Y| 500,000 0 500,000
g 150,000
= 350,000
01 Al&H| 500,000 0 500,000
NEAMESSHEHEHEZHE A 500,000, 000& 500,000
= 150,000
= 350,000
NEDeREZ2TEXIAL(BX) 250,000 0 250,000
Fag 75,000
= 175,000
401 AlEHIZL £ 0HY| 250,000 0 250,000
g 75,000
= 175,000
01 Al&H| 250,000 0 250,000
NAEIetE2 XS 250,000,000 250,000
g 75,000
= 175,000
HENSAAY (HHE X2 ) 15,907,891 18,980, 302 N3,072,411
oA 2AY| 15,770,806 18,848,672 N3,077,866
ol 2AHH| 15,770,806 18,848,672 N3,077,866
101 2121 d| 1,962,289 2,563,446 A601,157
01 = 380,000 380,000 0
N2RAHUE X £ 380,000, 000& 380,000
02 JIEFR &2 %= 14,254 29,091 N 14,837
NEJAAFE NP2 Z(AY2H)
863,816,000 *x1.6%*1/2 6,911
NHEAT IBLERLSZ(D2UE L MY
s=EY) 863,816,000& *0.85% 7,343
03 2IAHALZZXHE = 1,568,035 2,154,355 A 586,320
NERX AHUBEHSEH2 349,092,000 349,092
N2RX LN QYRR
40,216,000 40,216
1222 202 EBEI22Y =2 456,662,000 456,662
N2 NSBEIEYIZ(AA20H)
81,185,000 81,185
29X ISLHELHI(DSEAN L HYs
Sje) 86,259,000 86,259
NE2RX MRS 152,221,000 152,221
NRINHL2Z2 X E 22 400,000,000& 400,000




SN HEXE D
Sl

M HEL2GFU(FH X2
Sl ol ) CERED
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
NSRS UE NE ol
200,000& x2H «63] 2,400
303 Z& =3 3,025,141 4,750,784 A1,725,643
02 &&03 3,025,141 4,750,784 A 1,725,643
NEBAS 3,025, 140,753& 3,025,141
04 A3 RESS 10,783,376 11,534,442 A751,066
A3 23 8,883,272 10,009, 205 21,125,933
N2RAAI VDG AIRYS
5,385,730,000& 5,385,730
N3F3 2l 23 1,840,649,000€ 1,840,649
NR2eANI B2 ENLg2eT
1,557,556, 000& 1,557,556
NaAAI S Mll2a2g2
99,337,000 99,337
02 ZQALEES 1,900, 104 1,525,237 374,867
N2 ALRERERL LS
49,529,720,000& *6.88%1/2 1,703,823
NS2 LAFIQYBEE
1,703,823,000& *11.52% 196,281
Jl2Zl 137,085 131,630 5,455
JlE2zl 137,085 131,630 5,455
101 @14l 4,400 4,400 0
03 RIAHAAZZRHE > 4,400 4,400 0
N2 d2FX FUHAYI
50,0003 11«83 4,400
201 et 6,250 6,000 250
01 At 22l 6,250 6,000 250
NEMEY AFR22 250,000& »25H 6,250
202 04l 10,000 9,600 400
01 = LHA YI 10,000 9,600 400
NEMSY I 50,000& 259 +83| 10,000
203 PR =&l 116,435 111,630 4,805
0 J22IHRF=8 81,900 77,200 4,700
Nes 81,900,000& 81,900
02 It =AY 28,595 28,190 405
123 (100%) 80,000& x100H 8,000
123 (101~300%) 60,000 200 12,000
)23 (301~600% ) 45,000& x191H 8,595
04 EAN2IHRF=EHI 5,940 6,240 A 300
1)30€! 0l &t 400,000& 123 4,800
1)3121 0] & 5,000& 198 128 1,140
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AR E= DAL=

H: HWRES(HIXAM)
S WEAHAHX = (=& J)
= - — SHE]|

SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
Heas(#HAEXE 1) 100,000 100,000
HEAHHKI = 100,000 100,000
HEHH X = 100,000 100,000
702 JI3HEE3 100,000 100,000
01 JI3dE= 100,000 100,000

NASNEIZ ME2 100,000, 000&! *1 100,000




